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Candidates must write the Code on
the title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

Hehford TO&T — 11

SUMMATIVE ASSESSMENT — 11
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(i) 3G JoT-YT F1 g1 97T, HFT-37 37K -, F FieT 77 8 | 377991 3141 97 & J9791 & IR
forg 8 1

(i) T go7 AR E |

(iii) T Fe7-97 7 13581 397 4 HIE 797 Irea 75T & |

(iv) 379! GPT-37 37K G- & G4 F97) & I §IF-9F YT & IR T [o7@7 & |

(v) MFT-37 & 97 G&IT 1 G 3% 97 TH-T 3% & & | 579 I U JIeg 37T Vb FIaT 5 ¢ |

(Vi) SFT-37 % J97 G4 & 6 & F97 G1-§1 37 & & | 579 IR ATHT30 TG 557 5 /|

(vii) HTT-37 % Y57 G&IT 7 & 18 3 Jo7 i~ 371 & & | 579 JoR ATHT 50 Vgl 5 a7 8 |

(viii) SFT-37 & J97 G119 G 24 & J97 Gia-qia 371 & & | 579 I 79T 70 g 7 7
g1

(ix) SFT-§ & J97 G&I725 & 33 & Jo7 A B9 T SR Tgldebcd] I97 & | I9%
97 U 37 BT 8 | 13T TT TR fahey] § & 37791 Sa7 Tb Gad Iqgeh 1aaheq g1 & |

(x) Y-8 & ¥97 G&I7 34 @ 36 & T3 JINTIHE HI¥IcT T TR §1-3) 371 & & | 573
FHARITHHE /|

General Instructions :
(i)  The question paper comprises two Sections, A and B. You are to attempt both the

sections.

(ii)  All questions are compulsory.
(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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Section — A

1. (i) "9 3R (i) TSHTE 1 3rTurfersh g3 fetfa | 1

Write the molecular formula of (i) Methane and (ii) Ethanol.

2. 39dd euuIl & @ o= 3w fafEu | 1

Write two different uses of concave mirrors.

3. @ Teh{de TIGEl o 1 fAfa | 1

Name two natural ecosystems.

4. gtk ITred fem faRau | syl sted areft § 9yl 3R 3Tadl ol §e @1 g ? 2

State Modern Periodic Law. What is number of groups and periods in the Modern
Periodic Table ?

5. oud Uil gRT o Wdfers & 9 stfirereron ot g ssT | 2

List four characteristics of the images formed by plane mirrors.

6. SNSH FATE ? TSI T bl g Tga dTet T ol 91 fafau | 2

What is ozone ? Name the chemicals that damage the ozone layer.

7. a0 fafia &9 @ wmug % T W st i gefit, S 3 o w2 Wossar o,
- T @R 7T e~ W forerar o1 | gefR 7 3o R ¥ freres eie =1 sam |
R1eres vgIc™ 3 980 @ 319 A3 6l St @ JiF U o U Hg1 30 I7H weafr & gt
BT ol F%0 g YR T Ae-Fh & @t fog 1 HRoT qHermT |
(i) 3Tk foraR & %01 & 9 | 1 SN 8 37N 38 hd TIntrd fepan s askar g 2
(i) afe STrX TEGT T8V T — 0.5 D THAT o AT T IIHT TR T GWH <d 7, a1 37

il % YR <1 A forfaw |

(iti) HER 3R 38k 1Tk WRlgd g1 TGRI qed fTRa | 3
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Varun instead of copying from the black board use to copy regularly from the note
book of his friend, Sudhir with whom he sat on the same desk. Sudhir told the teacher
about it. The teacher asked Varun to get his eyes checked by a doctor and explained
to whole class the reason why Varun copied from Sudhir’s notebook.

(1)  What in your view, is wrong with Varun’s eyes and how can it be corrected ?

(i1)  If the doctor prescribes Varun to use lenses of power — 0.5 D, write the type of
these lenses.

(ii1)) Write the values displayed by Sudhir and his teacher.

8.  TIhINT < YehIUM 9T & 7 TS STTehTNT o TT Il 911 BIAT & 7 ST HifTT | 3
What is scattering of light ? Why is the colour of the clear sky blue ? Explain.

9. I 9% 8 cm BT gt ¥ Tl Iqa oW *k g IW & A oF o
12 cm g8t R fera 3 | fcfers 3t et 3R sepfer aitestord i | 3

An object is placed perpendicular to the principal axis of a convex lens of focal
length 8 cm. The distance of the object from the lens is 12 cm. Find the position and
nature of the image.

10. el qUull o HeW H ug ‘srraedA’ #h aiwr foRay | afe 18 srEaet giur s ¥a |
20 cm gt T fera foreht forar =1 amferep Wcfernal gUOT € 40 cm g O ST B, 1 g4
1wy gfl Td HIT | 3

Define the term magnification as referred to spherical mirrors. If a concave mirror
forms a real image 40 cm from the mirror, when the object is placed at a distance of
20 cm from its pole, find the focal length of the mirror.

11. fordt ae M 6w EEET 128 |
(i) 9 O I A oh [I=ATH 3R EAISTehd] fARET |
(i) T ‘M’ 9Tq & 31T YT 7 379 I o &7 T HROT ST |
(i) M  3TTFETSS T UTTTh G 3T T (et / i) fofaw | 3
An element ‘M’ has atomic number 12.
(1)  Write its electronic configuration and valency.

(i) Is ‘M’ a metal or a non-metal ? Give reason in support of your answer.

(ii1)) Write the formula and nature (acidic / basic) of the oxide of M.
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12.  3nyfes 3med awoft § fereht
() 3Ted ® 91¢ g g¢ 9IH W, a2
(i) T8 H IR I F= TH |
Tl Bt o] Brserna § fohe TehR aftad Bd & 2 3794 I o et § il S | 3
How does the atomic radius of the elements change on going
(1)  from left to right in a period, and
(1) down a group
in the Modern Periodic Table ? Give reason in support of your answer.

13, Te ARl 1 TusTdT it o Bt ® 7 38ek foheal o afirereai Y gt SIST |
HCOOH o 37Tet THSIT R Hfieh w1 9 3R g3 fafau | 3

What is a homologous series of carbon compounds ? List its any two characteristics.
Write the name and formula of next higher homologous of HCOOH.

14, (a) TME TS o == fou T Wit < s faRau
(i) F99T; (if) FhaTieHAT; (i) ToATT; (iv) Te
(b) NSHRY § O T § gfeemier g aret fehegl f a1 uftad-1 st gt sH13T | 3
(a)  Write the functions of the following parts of human male reproductive system :

(1) Testis ; (i1) Vas deferens ; (iii) Urethra ; (iv) Prostate
(b) List any two common pubertal changes that appear in human males.

15.  cd%h %1 Teh—Tsh 3GTaX0T <d U TR 371X 37T Teavn o sfter T hifsre | svror
A fop Topeft waret Sfiar gra 31aw Sftem w1t o Iwiista @veror srreft it | ama @
TE B | 3
Distinguish between inherited traits and acquired traits giving one example of each.

Give reason why the traits acquired by an individual during the life time are not
inherited.

16.  3TcARTeh S oh8 hgd & ? BT8gI H Hghoid shl ishAT feTRa | 3

What is asexual reproduction ? Write the process of budding in Hydra.

17. TURE FTE ? SATEAT T foh <ifites S i At St <hi Tt § ur <t wen foha
TR GUied &l & | 3

What are Chromosomes ? Explain how in sexually reproducing organisms the
number of chromosomes in the progeny is maintained.
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18. e T <t fopegi i farferat <Y w=ht sTeu 3fk waiy & geht s hifaw |

List and explain briefly any three methods of contraception.

19. (a) ot 3T oi@ g it feu TTU ek Sehtor ® s atet Widfers <t ferfa, wepfa 3
TS I G o T AR fotr 3Tt Wife, Sefes fomat fera 2 7id
(i) RIS g (O) 37 J&T BIhd (F) & s
(i) F3M2F& =
(b) afe ITA T8 I I &l B8 gl o A GRI Tlereniid s feam S, a1 ulied
TORTUTT, (i) 3T (i) H wifciferear <t wepfer 37 et § wm wftedq g 7
(a) Draw labelled ray diagrams for each of the following cases to show the

position, nature and size of the image formed by a convex lens when the object
is placed

(i) between its optical centre (O) and principal focus (F)
(i1)) between F and 2F

(b) How will the nature and size of the image formed in the above two cases,
(1) and (i1) change, if the convex lens is replaced by a concave lens of same
focal length ?

20. IS Afed THTER U7 % I hl T Tel <& UTdT | 35k gfse—gry &1 A ferfiau | g9 gy
i = @ fou fopror am@ Eifew 37t 38eh o avTfaa RuT i gt S8 | U
RIS G % o1 % ITAT GRT 38 QY o YA i S o fe7e fortor s Eifam |

A person is unable to see distinctly the words printed on a newspaper. Name the
defect of vision he is suffering from. Draw ray diagram to illustrate this defect. List
its two possible causes. Draw a ray diagram to show how this defect may be corrected
using a lens of appropriate focal length.

21. (a) hed AR H Fi feu T oaRE yeR i qEEte it & wEEts
WUT%'F@'Q:

()  Afeientor rffeRan
(i) Heho AffeRa
(i) S srfiferan
(b) UAHTS FT ] 7 1 BT B 5§ S Fig H,S0, % WY 443 K W TR feRan
STt 2 7 38 Al ¥ @ig H,S0, <t yftrent feafam |
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(a) Write a chemical equation of each of the following types of chemical reactions
of organic compounds.

(i)  Oxidation reaction
(1)) Addition reaction
(ii1) Substitution reaction
(b) What is ethanol ? What happens when it is heated with excess Conc. H,SO, at
443 K ? Write the role of Conc. H,SO, in this reaction.

22. e % FAM A I8 ford JehR gurte foh
(i)  IRTOT JTet 37T STINTE Bid &, aT
(i) Ty @t waa TU A ST A § 7 5
How do Mendel’s experiment show that

(1) the traits may be dominant or recessive, and

(i) different traits are inherited independently ?

23. (a) WETTFATE ? 3 gl TR IR |
(b)  TNTERYT T AT GITd BU TeRelt 5T o HIGT SIHART hi ST HIE 1 3TR@ Witaw
3R 38 W fferfaa =t Amiferd hifse -
(i) fdehm;
(i) T I b Y T,
(iil) AT =R 5
(a) What is pollination ? Give its two types.

(b) Draw a longitudinal section of female reproductive part of a flower showing
germination of pollen grain. Label on it the following :

(1) Stigma;
(i1)) Pollen tube with a male germ cell ;

(ii1)) Female germ cell.

24. (a) HUING fepme forli hEd € 7 U8 T STTATAF & ?
(b) ST TIEVT FT R ? THh IR AT bl Tt SHTST | 5
(a) What is sustainable development ? Why is it necessary ?

(b) What is water harvesting ? List its four benefits.
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25.

HT -«
Section — B

il SRR T8 TR S H 3Terel GUUT % Hishd G4l &

12 3 45 6 7 8 910 111213 14 15

(a) 12.4cm (b) 6.2cm (c) 6.0cm (d) 3.0cm 1

The focal length of the concave mirror in the following experimental set up is

L L L L s s e i
12 3 456 7 8 910 1112131415

(a) 124 cm (b) 6.2cm (c) 6.0cm (d) 3.0cm

26. hIE % WIS H ToRA aTeil ThTeT TohTu 1 927 STRREA i o foTT Taiaw ST soaeen

31/1/1
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(a) A (b) B (c) C (d D
27. 3 AN ! A EH HiF o s0 & 7o areit fopslt fohtor 1 9 @&t sfaa fehan
T | 1
(A) (B) © D)
(a) A (b) B (c) C (d D
Select the diagram in which the path of a ray passing through a glass prism is
correctly drawn
(A) (B) © D)
(a) A (b) B (c) C (d D
28. i feu e s ® @ 37 3mafo ferton i e i o & 3TaadH o IvETd o dE uY
T T & 3TR et I e o gRT s et Tt =6t fefa o1 3ird e ¥ fopan
T Fehal 2 |
R o1 A
= 2
2y F1\45\LI N Z:Fl
v/ > \§
(a) hadt 1 34 (b) haet 3 3T 4 (c) 1,334 d) 1,3,43W5 1
31/11 9 [P.T.O.
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Select from the following diagram the incident rays whose paths after refraction have
been correctly shown and can be used for locating the position of image formed by a
convex lens.

R S 1 A
i
: + T . ;
2F, T : F 2F,
Vv > \
(a) only 1 and 4 (b) only 3 and 4 (c) 1,3and 4 (d 1,3,4and 5

29. F BEI A THifewh 37t o Hifereh oTeHT 1 319 ek 3194 Y17 e fohw | i e
T B T H T R 7

(a) Sh! Y TEATS ST B 3T g A H foer B |

(b) 3ThH! T ToTd TATEh ST & 3N I8 oA | AfTAT 2 |

(c) sHeh! Ty Tk Sieft g 3T g o1 8 foeia 7 |

(d) ITEHTIHS IS AN R IANTE T 4 foea & | 1

Some students studied the physical properties of acetic acid and noted down their
observations. Which of the following observations is correct ?

(a) Smells like rose and soluble in water.
(b)  Smells like burning plastic and insoluble in water.
(c) Smells like vinegar and soluble in water.

(d)  Smells like rotten egg and soluble in water.

30. IS B AN H |G ST =1edl & | 3 = QU 7T geret < g 5 9 foheeht

TN AT AT ? 1
(a) | 1 T 3 NaCl (b) | %1 d 3R Na,CO,
(c) |EI T A 3 NaOH (d) @S deF 3T NaOH

A student wants to prepare soap in the laboratory. Which of the following sets of
materials he should use ?

(a) Neem oil and NaCl (b) Neem oil and Na,CO,

(¢) Mustard oil and NaOH (d) Mineral oil and NaOH
31/111 10
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31, 9fe 3 = fou U afesi o 39 |y &I I o 7T Fa1 e, [Seeh! Ft=-Td gHema

7, 1 319 fopd g 2 1
(a) TSI, STehTehe] 3T 37T (b) TSR 3R geft
(c) TSR, 3Te] 37 THTEX (d) ST 3R geft

If you are asked to select from the following a group of vegetables of homologous
structure, which one would you select ?

(a) Carrot, sweet potato and potato (b) Carrot and radish
(c) Carrot, potato and tomato (d) Brinjal and radish

32. i few mTu s o srfien ° fegvea & fafie =t o1 fafa feen mn 2, S o s o

TEE - 1
1 11 11T IV

TR TSI ShA @ -

(a) 1L 1L IV, I (b) L 1L IV, III () ULIV,ILI  (d) LILIV,II

In the following figure different stages of binary fission in Amoeba are depicted,
which are not in proper sequence :

SO @ @ @D

The correct sequence is :

(a) IL IIL, IV, I (b) L 1L IV, III () ILIV,ILT  (d) LILIV,1I

33. i feu e fore i@ o qper &l i TR 7 1

(A) (B) ©) (D)
(a) A (b) B ) C (d) D

31/1/1 11 [P.T.O.

Downl oaded From : http://cbseportal .con Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

34.

35.

36.

In which of the following figures is budding Not shown ?

(A) (B) ©) (D)
(a) A (b) B ) C (d) D

3T9eh I8 IR SRt A, B, C 3R D & | A 3R B H § TohHT T H ol 9o § 3TN g A
g e 2 | C 3R D 4 & fore T o wred o1 oot & 3R gat # feetsie o1 foaeram & |
319 59 g4l hi TE=H fohd TR T 7

You have four beakers A, B, C and D. Out of A and B one has hard water and the

other has soft water. Out of C and D one has soap solution and the other has
detergent-solution. How would you identify these liquids ?

e 39 wHifewh et § Hifgan srgeheie fierrd €, 9 9 Ve owd @ ¢ 39 siffsen |
o g8 119 <hl Tg=H 3119 foh® TR hid & 7 | | Ui <hIfT |

What do you observe when you add sodium bicarbonate to acetic acid ? How would
you identify the gas released in the reaction ? Describe briefly.

T+ % oS o YU < fafir= v @ @i aren STR@ Eifa 3R 39 WET ol it
T |

Draw a diagram showing different parts of an embryo of gram seed and label them.
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